Chemical Reactions
4.8 Introduction to Acid-Base Reactions
Worksheet

1) Label the acid, base, conjugate acid, and conjugate base m the following
reactions.
a. HNOsug + H.Og = H30+(3q} +NO3 g

b. HCOs3ay + OH gy = CO:'ag + HaOg

c. HiPOyg + HaSpg = H3POyug + HS g

d. HF,y+H.0p = H30+(aq) +F (ag)

e. CNig+NHy oy = HCNpg + NHiqg

£ HCN(@ + HjDﬂ} — HgO"(an + CN_(an

g 2H,0q = OH g + HiO )

h. 2NHj3ag — NHi o + NHa (o

i. HClOsfag) + H,O(l) > ClOy (ag) + H;O (ag)

j. Hlfag)+ HyO(l) = T'(aq) + H;O (aq)



2) What 1s the strongest base in each the following reactions? Provide justification
based on solution equilibrium or forces of attraction between particles.
a. HClOuug + HiOg = ClOs g + H}O‘-;(aqj
b. HNOj3@g + HiOg =2 NOs g + H30+(3q}
C.: 2 HED(;} — OH_(aq) T H}O-.—(aqj
d. HFy+HOq = HiO g+ Frg

3) What is the strongest acid in each of the following reactions? Provide
justification based on solution equilibrium
a. Hlgpgt+H:Og =2 Tpg + H;O*[aq}
b. HQSO_.;.:JQ} + Hlo(l) = HSD‘{(aq} + Hgo"-(aq:,
c. HNOsng + HoOg =2 NO:z'g + H30+(aq}

4) Identify the conjugate acid base pairs i the following reactions.
a  HFuy+H,0p = HsO o+ Fg
b. CH;COOH + H,0 = CH;CO0 + H;0™
c. HiSOypq + HiOg = HSOs (g + HiO (g



